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Question 1 is compulsory and answer any six from Question 2 to Quelstion 8.
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I. Expressy asa Fourier series upto 2™ harmonics for the given data. [8] €O | L3 |
X 0 [1/3 21173 I1 411/3 | SI11/3 211 3 :
y 1.0 1.4 1.9 1.7 L5 [ 1.2 1.0 ‘ .
| 2. Obtain the Fourier series for the function f(x) =x+x’in-m<x<nm. [71 S ' 1.3
‘ N |
. . . % in 0<x<mw [71l ceq | L3 |
| 3. Obtain the Fourier series for the function f/(x)= _ : ‘ bl ,
| x=2r inm<x<lm |
: 11 .
Hence deduce that % = -3 + i Also sketch the graph for the function.
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‘ 1. Expressy as a Fourier series upto 2" harmonics for the given data. g§] Cor 13
p
| X 0 | TI/3 | 211/3 IT | 4I1/3 | 51173 211
y 1.0 | 14 1.9 1.7 1.5 | 1.2 1.0
| . oo
| 2. Obtain the Fourier series for the function f (x) =x+x"in-nm<x<7. [7]] €OV | L3}

) i . X in 0<x<mw
| 3. Obtain the Fourier series for the function [ (x) = !

x=2r in w<x<2w [7] col | L3

Hence deduce that % =1- % + é = .Also sketch the graph for the function.



. Find the Fourier sine transform of

+ Obtain the Fourier series for the function f(x)=2x-x> in0<x< 2

1 _ 1
X i DS a e 2
- Obtain the sine half range Fourier series of f(x)=

X=—in —<xx|
2
) 1 for |x| <a
- Find the complex Fourier transform of f(x)= .Hence evaluate
0 for[x| >a
T sin x .
%

0

. . i " i 52
" Find the infinite Fourier cosine transform of e~ .

—ax

e

,a>0.
¥

+ Obtain the Fourier series for the function f(x)=2x-x> in0<x<?2

1 , 1

== i <y <

- Obtain the sine half range Fourier series of f(x)= 2

X——in —<x<l1
4 )

1 for |xl <a

Find the complex Fourier transform of f(x)=
0 for’x] >a

} .Hence evaluate

Tsinx
[—= ax.
0 X

Find the infinite Fourier cosine transform of ¢~*" .

; .. . e
. Find the Fourier sine transform of

,a>0.
E

Page 2 of 2

[71

[7]

(7]

(7]

[71;

[71

Ol

Ol

coO? |

Q2

07

co2 |

02

cO2






=

% 3
,Q‘l a\.mr@ e rH —
T &L 7o €+0 o= [ %
L — . ~o |
o 9* Q— ¢ 7 =t ﬂWmm
@ | FPE" s
. g 2 rEi s
Afﬂ.@ fl\. r 5 .m.Dl. brolb m,.f Q‘W:i
it | e M
99890 998-0| Sk :
— > TR E T =]
bl g | L . a1 Qé |~ M R
o a
o
O i
o] Sbron] son| sl e | g
yakal [798°2] 99804 2
L e R R . . |
Sagiems | [ HEEEEA U808 77
o o o ,O, $ P \ \ \ O
.uurdrﬂm..ﬂ.ﬂ Aﬂ.ﬁﬁm»ﬂ ITTG | X xuﬂ.dﬂadhv ﬂmﬂdﬂ =BT GTD ;‘UNWO\U ﬂ X













&/5‘7/ \)r: ) 2Q) 7

' = \ng@ﬂeﬁc)

‘S’L_QDC): % %% (@-ﬂ/C@S(,WA>DC— ¥ by |
o 2 a ~

o
©

G = ‘__\_,_\S_‘},Q:C)A/i
S Qe
o) —_i
> > ">": _,13:- ﬁ
oy = G'—’-“*;:" = > TSN
o \/_\,\\’\







A~

> <
&J/ \ \D B j N Dc'a %LWCH.W)DQ
- .- . K
©
g (re) =
Oy S
» =~ 225
L S o 3 C;'f_ignf—?—’ - >R
oy : iy 22—
cfﬁw”ﬁﬁﬂ%l
=¥ T s

noRT T
)
b e
0
Pe)
oy f T e
W= e 22— o=
(X))
e = ?::h = \ e
> = T & A
‘ 5Q7T:{_7 e Q_,OQ@
> _\L— C’ow—”’.;? 22
S :
o - O 7




@)

D= = y="" Ca L x, 7D |
5 ,Z C% costrad) ¥y entra)

%9’ %Qi\ - = O @

5
o = i A
s>
=
==
s
S [ GaweD
vy
—K o \ 9,_7(’3 72;\.)«
= — _— = =
\ Ty I R
ol T e )
__.9-2): P,
o 32 ) Y\
x =<
) j 7Q(—£> cos (0D A
oo,n/: = B
=N

f R S N
. )- :C;}-CDEJ Q’\—"i‘.) A—‘—;‘
£ A
- ‘-‘\d— «S £ CD&CW & = Cioe s -



o

k. j Dc}wSCwivA/DL

6. = T
LW -—
A (=3
s o B :C_> " CrL>C7
L B s Lo - e el EERD
% ey o
N
3 o> ‘_/f;.c.n_Qﬁbc?j
i ©
=C =
T T
c—"
. TcoSCmr}: ‘\—‘:’"""’
oL = — _’F; ¥ie
o xS
>f\» -+ L
- oy
o = — o -
0 2o
x o S
I B Lrst)
" K
- 1

- v
8 \ J DCP’_& g Fj_> 3\:{—
_Sf— T
~ AL
A =K
o 8N

N o) o\
L (T wanC
e i



—_—
-

= &
_ n,i—> B =
L — - & o —_—
= T Y
o w

- 7\’0::»5(;&"") 3 - 2=
= l -
———— W
79

7JT ®

LD

! a5 . _
: N T -
I T )
| 0 N
| A
= Z LD enelo)
| = o N (2 ) T y
' Sy TS0 > (G
i
| - Cme’ )
y 2T
| = | 5
| . o
&\7 gos (5 ~
S o (W
Y= T 3 '







oK (>)

L — __\_._ j C"=L7 éﬁ’)——(\.\’“‘/:’cvﬁ‘*\f:c’
L[y

o

Bl o)
0 | 2§ =
Lf@o.%(ﬁ’ja e
o i
= g
-
(\‘\‘\ \]L W&Z'
= =4
o
> (-















\S Co/ﬂ L CC’QDC> O\'i"

X9
-
2
",
\l
Y
|

37—5(043: J—j’;j e HrnA(R =)
~ =°

o

S s 2 ¥ 5
= @ .
T, =dF
.;_-_—O
S A
St
o o el =R T e
N ' oL H"\\



